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1. For 1 mol of gas, the plot of pV vs. p is shown below. p is the pressure and V is the volume of the gas

What is the value of compressibility factor at point A?

b a a b
() 1+ v 3 ey @1y

e 1 |91 & forg, pV a5 p &1 wife A1 famman a1 2 | p 199 &1 8149 1R v 3199 &1 11aH 2—

p—
g A R AUISTIA1 HRE GBI AN R 27
b a a b
1+— 1-—— 1+ 1-—
(D) 1+3 @) " rrv () RV @15
Question ID: 3666942037
Ans.  Official Answer NTA (2)
Sol.  Atpoint “A’, ‘a’is considerable and ‘b’ is negligible.
a
.~.(p+FJV:RT
a
V+—=RT
P A%
z=1--2
VRT
2. Identify the correct order for the given property for following compounds.

(a)BoilingPoint:/\Cl <« ~CL /\/\Cl
(b) Density : /\Br < /\Cl < /\I

Br
(c) Boiling Point : /\B < /kB < )( Br
r r

Cl
(d) Density : /\B(I < ANABr< /\';
r r
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(¢) Boiling Point : /\/\Cl S /lﬁ/Cl - )VCI

Choose the correct answer from the option given below :

()A,CandDonly (2)A,BandEonly (3)A,CandEonly (4)B,CandD only
RretferRea et @ forg R g o1 3 forg Tl o e

(2) F@ATEH : N <« A SNCL o /\/\Cl

(b) e : “ g < 7 1< 7V

Cl <
Br Br
- Br
C) FAAATD
( ) /\BI‘ < )\BI‘ < /I<BI‘

(d)’aﬂ?cr:/\(1</\/Br</\/Cl

Br Br
(e)ﬂﬂ%ﬁﬁ:/\/\Cl> )\(Cl > )TCI
I fQ Y fdemedi # 9 92l SR gy ¢

(DA, CIRD@ad  (2)A,BIRE®ad  (3)A, CAREdaa  (4) B, C iR D @wad
Question ID: 3666942049

Ans.  Official Answer NTA (3)

Sol.  Boiling point of alkyl halide increases with increase in size, mass of halogen atom and size of alkyl group
Boiling point of isomeric alkyl halide decreases with increase in branching
Density increases with increase in atomic mass of halogen atom

3. Which of the given compounds can enhance the efficiency of hydrogen storage tank ?
(1) NaNi, (2) Di-isobutylaluminium hydride
(3)Li/P, (4) SiH,
U U =1 ATt & W DI BISSIo YUSRY I GeTdl B §al Thdl 87
(1) NaNi, (2) Srg—aTTs¥l Yfed VA Bgsgs
(3)Li/P, (4) SiH,
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Question ID: 3666942042

Ans.  Official Answer NTA (1)

Sol.  Tanks of metal alloy like NaNi,, Ti-TiH,, Mg-MgH, etc., are in use for storage of dihydrogen.
4. Compound that will give positive Lassaigne's test for both nitrogen and halogen is :

(1) CHNH,HCl  (2)NH,HCI (3) NH,OH.HCI (4)NH,CI

T8 QI ST ATSSISH Td 8IS &IF1 & ol AHRIHSD o7 ULIEToT <17
(1) CH,NH,.HCl1 (2)N,H,.HCI (3) NH,OH.HCI (4)NH,ClI

Question ID: 3666942056

Ans.  Official Answer NTA (1)

Sol.  CH,NH, - HCl will give positive Lassaigne’s test for both nitrogen and halogen because it is organic compound
(contain carbon).

5. Chiral complex from the following is :

Here en = ethylene diamine

(1) cis —[PtCL, (en),]** (2) trans— [Co(NH,), CL ]
(3) trans — [PtCl (en) ]* (4) cis—[PtCL, (NH,),]
ot 3 91 Forver Wi & -

I8l en = YRl SI8RHIA

(1) cis—[PtClL, (en),]** (2) trans - [Co(NH,), CL ]
(3) trans — [PtCl (en), ]** (4) cis—[PtCL, (NH,),]

Question ID: 3666942048
Ans.  Official Answer NTA (1)

(

en™ +2
Cl ]

Sol.

Cl
Ken__/
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this is chiral complex form

6. Match List-I with List-II.

List-I Antimicrobials List-II Names
A. |[Narrow Spectrum Antibiotic I. |Furacin
B. [Antiseptic II. [Sulphur dioxide
C. |Disinfectants II. |Penicillin G
D. |Broad spectrum antibiotic IV. |Chloramphenicol

Choose the correct answer from the options given below:
(Ha-OLb-I,c-1V,d-1I 2)a-lULb-ILc-1Ld-1IV
B)a-Lb-ILc-1V,d-1II @ a-1Lb-Lc-1V,d-1II
A1 &1 e -1l F o -

gA-1 ufages sifaw qA-I1
A, [FTT () g iy L |7
B. |dff (TErfes) | SEAESERICEIES
C. | ML |FRieh=—oh
D. |fwqa (Efe) wWagH afisfiaryg V. |[FeiRbRte
A fag g el 9 & |E SR I -
(Da-TLb-Tc—IV,d—1I (2)a-TMLb-Tc—ILd-IV
(3a-Lb-I,c—1IV,d—TI @ a-T,b-1,c—1IV,d—TII

Question ID: 3666942054

Ans.  Official Answer NTA (2)

Sol.  Narrow spectrum antibiotic — Penicillin G
Antiseptic — Furacin

Disinfectants — Sulphur dioxide
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Broad spectrum antibiotic — chloramphenicol

.. Correct matching is:

A->I,B->LC—->I,D—->IV

Correct statement about smog is :

(1) Photochemical smog has high concentration of oxidizing agents
(2)NO, is present in classical smog

(3) Classical smog also has high concentration of oxidizing agents
(4) BothNO, and SO, are present in classical smog

¢ PIERT (W) & IR H T& HAT 7

(1) BT Fdme W H ifaRERS! B Aiadl So el & |

(2) I (FeRid) T NO, HI5E 8 |

(3) AT (FATRIot) T H SffeRABRDT B Gl S Bl & |
(4) NO, 3iR SO, Tl AH= (FefTRrebet) W H HIS[E & |

Question ID: 3666942047

Ans.

Sol.

Official Answer NTA (1)

Photochemical smog has high concentration of oxidising agents

NO, is produced from NO and O, in the presence of sunlight

Classical smog contain smoke, fog and SO, and it is known as reducing smog, as chemically it is reducing
mixture

Which of the following salt solutions would coagulate the colloid solution formed when FeCl, is added to
NaOH solution, at the fastest rate ?

(1) 10 mL of 02 mol dm™ AICI,

(2) 10 mL of 0.1 mol dm~ Na,SO,

(3) 10 mL of 0.1 mol dm™ Ca,(PO,),

(4) 10mL 0f 0.15 mol dm™ CaCl,

ferIfeTRed # 1 IRy o101 1 fderd, |evt o1 &% W), NaOH faera1 # FeCl, el R s arel Bicigs fdera
DI BT PP

(1) 10 mL of 02 mol dm™ AICL,

(2) 10 mL of 0.1 mol dm~ Na,SO,
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(3) 10 mL of 0.1 mol dm™ Ca,(PO,),
(4) 10 mL 0f 0.15 mol dm™ CaCl,

Question ID: 3666942039

Ans.

Sol.

Official Answer NTA (1)

When FeCl, is added to NaOH solution then negatively charged sol is formed. So AI”* with more conc. has

high coagulation power.

The increasing order of pK_, for the following phenols is

(a) 2,4 — Dinitrophenol
(b) 4 — Nitrophenol
(c) 2,4, 5 —Trimethylphenol

(d) Phenol

(e) 3—Chlorophenol

(I)c,d,e,b,a (2)a,e,b,d, c (3)a,b,e,d,c (4)c,e,d,b,a

1 wIHTel & fo1q pK 1 aedl 24 &1 &7

(a) 2, 4 — SETESBA

(b) 4~ g

(c) 2,4, 5 —Trimethylphenol

(d) W=t

() 3 — FARTB AT

(I)c,d,e,b,a (2)a,e,b,d, c (3)a,b,e,d,c (4)c,e,d,b,a
Question ID: 3666942050
Ans.  Official Answer NTA (3)
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OH OH OH
: © : : CH, OH OH
Sol. CH, @ @\
NO, NO, CH, Cl
(A) (B) ©) (D) (E)

Their acidic orderisA>B>E>D>C.
- Their pK_ valueisA<B<E<D<C.
(E.W.G will increase acidic strength)

10.  Thebond dissociation energy is highest for

(O L (2 F, (3)Br, 4)Cl,
e faRIToT STl &1 A4 fhda forg S=aa™ 87
(L @) F, (3) Br, (4)Cl,
Question ID: 3666942040
Ans.  Official Answer NTA (4)
Sol.  Bond energy of F, less than Cl, due to lone pair — lone pair repulsions.
Bond energy order C1, > Br,>F, > 1,
I1. Match List-I with List-II
List-I Reaction List-I1 Reagents
A. |Hoffmann Degradation [. |Conc.KOH, A
B. |Clemenson reduction II. |CHCl, NaOH/H,0"
C. |Cannizaro reaction I1I. |Br,, NaOH
D. |Reimer-Tiemann Reaction IV. |Zn-Hg/HCI
Choose the correct answer from the options given below :
(Ha-HOLb-1V,c—-1Ld-1 2)a-1ILb-1IV,c-1d-1II
B3)a-1Lb-Lc-1Ld-1IV @a-1ILb-1V,c—-Ld-1I
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AT 1 1 e g 119 o
EEil g
(A) BIHHA FHiBul @) ConcKOH, A
(B) SRIH= SU<g (I) CHCl,, NaOH/H,0®
(C) IWIRI 3ffHichar (IT)) Brs, NaOH
(D) TSR MU | (1v) Zn-HgHCI

- fQ Y fdemeni § |8 SR -
(Ha—ILb-1IV,c—1,d-1 2)a—ILb—1IV,c—1 d—TII
3)a—ILb-Lc—ILd-IV @ a—1Lb-1V,c—Ld—1I

Question ID: 3666942051
Ans.  Official Answer NTA (4)

Sol. Reaction Reagents
(A) Hoffmann degradation —> Br,, NaOH
(B) Clemenson reduction —> 7n-Hg/HCl
(C) Cannizaroreaction —— Conc. KOH, A

(D) Reimer-Tiemannreaction ~——— CHCI,, NaOH/H,0"
.. Correct match is :
(A)-1II1, (B) -1V, (C) -1, (D)-1I
12.  The shortest wavelength of hydrogen atom in Lyman series is A.. The longest wavelength in Balmer series of He*

i
9L S5A 5 36\

(1) = @) 5 G) or 4 =~

ATSHISTEE H BIgSIo URAIY] B ¥ BISI TR A 8 | IFR 57el 4 He &1 Ga Tl qRiaed 8—
9\ Sh 5 36\

(1) 5 @) 5 Sy @) =~

Question ID: 3666942038
Ans.  Official Answer NTA (1)
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Sol.

13.

1 1 1
For H . x = RH Xlz (?—Qj (1)

1 1 1
rZRH ><22 X(Z—gj ....(2)

He*

7\' +
From (1) & (2) %%

A :Xxg
¢ 5

H

The standard electrode potential (M**/M?*") for V, Cr, Mn & Co are —-0.26 V,-0.41V, +1.57 Vand +1.97 V,
respectively. The metal ions which can liberate H, from a dilute acid are

(1) V**and Cr?* (2) Cr*" and Co** (3) Mn?* and Co*" (4) V" and Mn?*

V, Cr, Mn 3iR Co & folg AFias setag (s fawa (M3 /M?) %1 -0.26 V, —0.41 V, +1.57 V3R +1.97 V|
oTq AT Sl Yeb 7] 3t e o H,) 1 e ax Tl &, d & -

(1) V**and Cr?* (2) Cr*" and Co** (3) Mn?* and Co*" (4) V¥ and Mn?*

Question ID: 3666942046

Ans.

Sol.

14.

Official Answer NTA (1)

The metal ion for which have less value of reduction potential than (ESI " = 0) canrelease H, onreaction with
dilute acid. So, V*? and Cr*"? reduce H' to H.,.

The correct order of hydration enthalpies is

(a) K (b)Rb" (c) Mg* (d) Cs* (e) Ca**

Choose the correct answer from the options given below :

(1)c>e>a>b>d (2)c>a>e>b>d (B)c>e>a>d>b (4)e>c>a>b>d
TSR TAfeul &1 Hel HH B

(a) K" (b) Rb* (c)Mg* (d)Cs* (e) Ca*
A1 forg Ty <) e 3 ) w1 SR IR

(I)c>e>a>b>d (2)c>a>e>b>d @B)c>e>a>d>b (4)e>c>a>b>d

Question ID: 3666942043

Ans.

Sol.

Official Answer NTA (1)
Hydration enthalpy oc charge density

.. The correct order of charge density is
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Mg?** > Ca* > K" > Rb" > Cs*

.". The order of hydration enthalpy
C>E>A>B>D
15.  Themagnetic behavior of Li,O, Na O, and KO, respectively, are
(1) Diamagnetic, Paramagnetic and Diamagnetic
(2) Diamagnetic, Diamagnetic and Paramagnetic
(3) Paramagnetic, Paramagnetic and Diamagnetic
(4) paramagnetic, Diamagnetic and Paramagnetic
Li,0, Na,0, 3R KO, @1 g qeR &, e —
(1) i, sgma™ R ufdgmeem (2) ufigma, URgRed iR STgE®
(3) T, FTFEHI AR YRGBT (4) SIFEHI, TR AR FTEDIT
Question ID: 3666942044
Ans.  Official Answer NTA (2)
Sol.  Li,0 — O* — diamagnetic
Na O, - O,> — diamagnetic

KO, - O* — paramagnetic

16.  Number of cyclic tripeptides formed with 2 amino acids Aand Bis :
(D> (23 (3)4 (42
&1 VA1 ol A g B & |1y M grsuerss] o 9@
(15 (2)3 (3) 4 4) 2

Question ID: 3666942055
Ans.  Official Answer NTA (3)
Sol.  AAA,BBB,ABA, BAB are 4 possible cyclic structures.

17.  Themajor product 'P' for the following sequence of reactions is :
(1)Zn/Hg
o) 0 HCI P!
)J\/\/U\ (2) LiAlH4  major product
Ph NH,
(3)H,0"
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OH

(D) pr” ""NH, ) Ph)\/\/\OH

OH OH OH

&) Ph)\/\/\NH (4) Ph)\/\/KNHZ

2

Aferanall & 7 o8 & fory g Saure 'P' 8 -

(1)Zn/Hg
1) 0 HCI P!
)J\/\/U\ (2)LiAlH4 ~ major product
Ph NH,
(3)H,0"
OH
D ph NN 2 )\/\/\
(1) Ph NH, ( )Ph ol
OH OH OH

€) Ph)\/\/\NH

Question ID: 3666942052
Ans.  Official Answer NTA (1)

@) A~ A

2 2

0] 0] 0]
Ph )J\/\/U\NH2 _ZwHgHCL ph/\/\)J\NH2

(i) LiAIH,

Sol. (i) H,0"
Phe" NN\,

18. "A" obtained by Ostwald's method involving air oxidation of NH,, upon further air oxidation produces "B". "B"
on hydration forms an oxoacid of Nitrogen along with evolution of "A". The oxoacid also produces "A" and
gives positive brown ring test.

Identify A and B, respectively.
(1) NO,, N,O, (2) N,O,, NO, (3) NO,, N,O, (4) NO, NO,
3ivedres fafe i NH, &1 arg g1 SifeRile=or 31 A U 81 & S g: a1y gR7 SieR{ieRo1 & B Seurfe s
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2 | B & SToraIe iR A & Scoi & W1 TSI BT e ST 37 91T § | I8 3ifardl 37eT A &1 1 Seares el
g T AHRIHD TS AT Ueror < 2 |

B A IR B &7 g —

(1) NO,, N,0, (2) N,0,. NO, (3) NO,. N0, (4) NO, NO,

Question ID: 3666942045

Ans.

Sol.

19.

Official Answer NTA (4)

4NH, +50, —2>4NO + 6H,0
(*)

2NO+0, —>2NO,
(®)

During the borax bead test with CuSO,, a blue green colour of the bead was observed in oxidising flame due
to the formation of

(1) Cu,B, (2)Cu (3) CuO (4) Cu(BO,),

CuSO, & w1 IR it (Afep1) ulleror & <RM, fbe s (A1) & g7 & BRN T HIefl—8xT 371 < 17
(1) Cu,B, (2)Cu (3) CuO (4) Cu(BO,),

Question ID: 3666942053

Ans.
Sol.

20.

Official Answer NTA (4)
CuSO, —25Cu0 + SO,
Cu0 +B,0, —>Cu(BO,),

(Blue—green)

The reaction representing the Mond process for metal refining is

A
(1) Zr+2L, —=— 7r1,
A
(2) Ni +4CO0 ——— Ni(CO),
A
(3) 2K[Au(CN),] + Zn ——— K [Zn(CN),] + 2Au

A
(4) ZnO + C ———> Zn+CO
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¢Tq TNE & forg A= UehA &1 FReUvT o= aretl s1fafshan g—

A
(1) Zr+ 2, ——> Zr],
A
(2) Ni +4CO ——— Ni(CO),
A
(3) 2K[Au(CN),] + Zn ——— K [Zn(CN),] + 2Au

#) Zn0+C —2 5 7n+CO

Question ID: 3666942041

Ans.

Sol.

21.

Official Answer NTA (2)
Mond process is need for the purification of Ni metal

* Ni +4CO—"=25Ni(CO),

(impure)

Ni(CO), —*=" Ni +4CO

(pure)

The sum of bridging carbonyls in W(CO), and Mn, (CO)  is

W(CO), @ Mn,(CO), ¥ % (bridging) wreiff-ier THel 1 A &

Question ID: 3666942064

Ans.

Sol.

22.

Official Answer NTA (0)

CO
CO—

/\/

CO

W

I\

CO——1—CO
CO

[(CO), Mn —Mn(CO),]

Following chromatogram was developed by adsorption of compound'A' ona 6 cm TLC glass plate. Retardation

factor of the compound 'A' is x 107,
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| _ $ 0.5¢cm Solvent Front
Compound A ——q——=———— 1
—>3.5 cm
: ] 05em

ferferRad e o1 6 cm TLC 764 Wi R A1 A & s1feryor 3 fawRrd foan mam o | e A o199

%R (retardation factor) 2 : x 107!
| _ $ 0.5¢cm Solvent Front
Compound A ——q—==———- > |
—>3.5 cm
i 0.5 cm

Question ID: 3666942065
Ans.  Official Answer NTA (6)

3
Sol.  Retardation factor= = =0.6=6 x 10!

5
23. Consider the following reaction approaching equilibrium at 27°C and 1 atm pressure
13
A+B—=10 L olp
k, =10’
The standard Gibb's energy change (ATGG) at27°Cis(-) kJ mol™ (Nearest integer).

(Given:R=8.3JK'mol'andIn10=2.3)
ferferRaa arfafirar or faeR &9 St 27° C 3R 1 atm <19 TR 97 61 3R 96 &1 &

k, =10’
k, =10

27° C W |1 frsa gt a1 (A G) & kJ mol™! (fFravedw o)

A+B +D
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(Gammaz: R=83 JK ' mol”' tdln 10 =2.3)
Given 6

Question ID: 3666942059

Ans.  Official Answer NTA (6)

Sol.  “-AG®=-RTInK,

10°
..AG=-RTIn10
= —(8.3x300 x2.3)=-5.7kI mole™! ~ 6 k] mole™! (nearest integer)

24, Following figure shows dependence of molar conductance of two electrolytes on concentration. , - isthe

=10

limiting molar conductivity.

B

Am/S ¢cm’ mol”

A

\/E(mol / L)l/2

The number of incorrect statement(s) from the following is

(@) p g forelectrolyte Ais obtained by extrapolation

(b) Forelectrolyte B, , ., Vs \/c graphisa straight line with intercept equal to , -

(c) At infinite dilution, the value of degree of dissociation approaches zero for electrolyte B.

(d) Ay, forany electrolyte A or B can be calculated using j° for individual ions

=1 o> <1 faerse sraeresll & HieR =rerdhal @1 ATl W el o gaRid erarg |, » AT HIeR =rerddl
=
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LS

g

k:

% B

£

< A

\/E(mol/L)l/2

ferferRaa & & sracy Bl & T =

(a) fga aeead A & foIg |\ ° VaRSTUIRIR & §RT YT &1 STl & |

(b) fregd sEree B & forg, , &M (Jo T Ueb el ¥ © R sidwvs ) 0 % aRIER € |

(c) faermd sruaes B & forg, o1 Il UR IS ol 319 Y1 & SR THRT &1 SITelT 2 |

(d) o=t oft fargge aroerer A A B & forq, 2 b1 TTOTTT ST —3TeTT ST o 5,0 b1 ST = b Sl Fehell ¢ |

Question ID: 3666942062

Ans.

Sol.

25.

Official Answer NTA (2)

(A) A2 for ‘A’ cannot be obtained by extra polation.

(C) Atinfinite dilution, value of degree of dissociation approaches one.

.. Aand C are incorrect

Millimoles of calcium hydroxide required to produce 100 mL of the aqueous solution of pH 12 isx x 1071, The
value of x is (Nearest integer).

Assume complete dissociation.
pH 12 & STefia fderaa & 100 mL 99 & g anmaeaas dfeerad erssiariss & fiefmre sl dwx x 107 2
X HIAF T (Freveam quiie) | TS @1 ol A9 o |

Question ID: 3666942057

Ans.

Sol.

Official Answer NTA (5)
spH=12

~[H ]=10""M
~[OH ]=10"M

~.[Ca(OH), |=5x10"M
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_ milli moles of Ca(OH)2
B 100mL

milli moles of Ca(OH),=5 x 10"

5x107

26.  Forcertain chemical reaction X — Y, the rate of formation of product is plotted against the time as shown in the

figure. The number of correct statement/s from the following is

Ay
Rate of /
formation
of product | I
I} I b
Linear | Asymptotic! Constant

> X

—> Time

(a) Overall order of this reaction is one

(b) Order of this reaction can't be determined

(¢) Inregion I and III, the reaction is of first and zero order respectively
(d) Inregion II, the reaction is of first order

(e) Inregion II, the order of reaction is in the range of 0.1 to 0.9.

B IS fAfHARll, X—Y & fory, Iaures & FHior o1 &% @l o # @y 1 w953 & Raar wie fahan
T 2 | FrfearRed | & 981 Al &) g 2 |

Ay

Rate of

formation
of product
1

II III

Linear : Asymptotic | Constant

> X

—> Time

(a) =9 AfAfra & forg arfforar @5 i1 ®Ife T B |
(b) 34 1fAferar o dife MaiRa 721 & 51 Al |
(c) &3 1 MR 111 #, erfarforar swwen: uerH IR U dife BT ¥ |
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(d) e 11 &, arfaferan ue dife #1 7 |

() T 1 &, sfFa A 0.1 0.9 F R F 3|

Question ID: 3666942063
Ans.  Official Answer NTA (2)

Sol.  (B) Order of this reaction can't be determined.
(C) Inregion I and I1I, the reaction is of first and zero order respectively.

217. 17 mg of a hydrocarbon (M.F. C, H, ) takes up 8.40 mL of the H, gas measured at 0°C and 760 mm of Hg.
Ozonolysis of the same hydrocarbon yields

CH,-C-CH; H-C-H H-C-CH,-CH,-C-C-H
I | I Il

b b

O (0] (0] (ONNO)
The number of double bond/s present in the hydrocarbon is
T Brgsirad (3R C, H, ) @ 17 mg (0°C vd 760 mm Hg TR A4 Q) H_ %4 %1 8.40 mL U1 el & | SeKd
BISSIBTa IR TN Ieure <ol a—
CH,-C-CH, H-C-H H-C-CH,-CH,-C-C-H

> >

I | I Il
O (0] (0] (OING
BTSSP  Hiopa e/ Ryawei o) v &
Question ID: 3666942066
Ans.  Official Answer NTA (3)

Sol. C,H, + H,—>
17x107° 1x8.4x%107°
136 0.082x273

0.125 milli moles 0.375 milli moles
0.125 milli moles of C, H, required 0.375 milli

107716
moles of H, therefore there are total 3 m-bonds.

.. DU will also be equal to 3

28.  Solid Lead nitrate is dissolved in 1 litre of water. The solution was found to boil at 100.15°C. When 0.2 mol of
NaClis added to the resulting solution, it was observed that the solution froze at—0.8°C. The solubility product
of PbCl, formed is x 107% at 298 K. (Nearest integer)
Given: K, =0.5Kkgmol'and K,= 1.8 K kg mol"'. Assume molality to be equal to molarity in all cases.
B oIS AEeC Bl 1 <flex STl § °rel T | faerd &1 eaeria 100.15°C 9 -1 | 519 gRomH et § NaCl
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1 (0.2 Hie MAetran ST & it < 1 b feram —0.8°C wR o4 71 | (4 PbClL H1298 K R fderaar
x 107 8 | (Maean gurie)
fearmr 2K, = 0.5 K Kg mol ! iR K = 1.8 K Kg mol"!, &l Al H HieTerdl 1 ARl & axTeR 7 o |
Question ID: 3666942060
Ans.  Official Answer NTA (13)
Sol.  Letamole Pb(NO,), be added
Pb(NO,), - Pb*" +2NO;

a a a
AT, =0.15=0.5[3a] = a=0.1

Pbo,  + 2Cl,,, = PbCL (s)

t=0 0.1 0.2
t=ow (0.1-%x) (0.2 -2x)
In final solution
AT, 20‘8:1.8{0.3—3x§0.2+0.2}

23
oDx="=

27

2
=K, :(o.l—ﬁxo.z—ﬁ} =13x10°
P 27 27
29.  Thenumber of molecules or ions from the following, which do not have odd number of electrons are

(a) NO, (b)ICl1, (c) BrF, (d) ClO,
(e) NO, (H NO
feaferRaa # & Rl a1 et @51 e, RRTH geragiHi @ v Jwm g, & :
(a) NO, (b)IC1, (c) BrF, (d) ClO,
(e) NO," (H NO
Given 3

Question ID: 3666942058
Ans.  Official Answer NTA (3)

Sol.  Species Total electron
NO, 23
IC1, 122
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30.

BrF, 62
ClO, 33
NO,* 22
NO 15

IC1,", BrF, and NO," are not having odd number of electrons. NO,, C1O, and NO have odd number of
electrons.

Water decomposes at 2300 K

H.0(e) > 1. (2) + 5 0. (¢)

The percent of water decomposing at 2300 K and 1 bar is (Nearest integer).
Equilibrium constant for the reactionis 2 x 10 at 2300 K.

2300 K UR STl 61 319ee 8l & :

1@0@}»H4@+5049

2300 K wd 1 bar W= fagfed g aret Siet o1 ufcerd & (Frveas guri)
2300 K W= arfarferar & forg =g ReRris 2 x 1073 B |

Question ID: 3666942061

Ans.

Sol.

Official Answer NTA (2)

1
HZO—)H2 + 502

3004 2
(1% o
2

2;PT(1+(;) (1-a)

K, =

[ SRS

3
Lol
2x107 =—-Tas a.<<1 and letP =1]
22
3 3
a?=22x10"
~2x107
.. % of ' water decomposition =2%
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